Anilam Lathe G-codes and Canned Cycles

Anilam 1200 Controller

G_CODES
G00
RAPID TRAVERSE (144 FEET PER MINUTE)

G01
FEED MOTION .010 INCHES/REVOLUTIONS

G02 CIRCULAR MOTION CLOCKWISE

G03
CIRCULAR MOTION COUNTERCLOCKWISE

G40 TOOL NOSE RADIUS COMPENSATION-CANCEL

G41 TOOL NOSE RADIUS COMPENSATION – INSIDE CUTTING
G42 TOOL NOSE RADIUS COMPENSATION –OUTSIDE CUTTING

G70 INCH PROGRAMMING

G71
  METRIC PROGRAMMING

G90
  ABSOLUTE PROGRAMMING
G91 INCREMENTAL PROGRAMMING

G94 FEED PER MINUTE 

G95 FEED INCH PER REVOLUTION

G73 AREA CLEARANCE CYCLE LONGITUDINAL 

G74
 AREA CLEARANCE CYCLE (RADIAL)

AREA CLEARANCE CYCLE G73 (TURN AND BORE)
W= SUBROUTINE NUMBER IN WHICH PART  

        PROFILE IS PROGRAMMED

A= DEPTH OF CUT ON ROUGH PASS

R=AMOUNT OF MATERIAL TO REMAIN AFTER 

       ROUGHING FOR A FINISH PASS. (X AXIS)

S= AMOUNT OF MATERIAL TO  REMAIN AFTER 

       ROUGHING FOR A FINISH PASS. (Z  AXIS)

C= (0) NO CONTOURING PASS 

AFTER ROUGHING COMPLETE

(1) YES DO A CONTOURING PASS 

AFTER ROUGHING.
B=(1)COMPLETE ROUGHING PASSES TOWARD 

THE PART CENTERLINE.

     (0)COMPLETE PASSES AWAY

FROM THE PART CENTERLINE.

F= X AXIS START POSITION FOR 

PART PROFILE.

M=Z AXIS START POSITION FOR 

PART PROFILE

J=FEEDRATE IN INCHES PER REVOLUTIONS  

USED FOR ROUGHING PASSES

K= FEEDRATE IN INCHES PER REVOLUTIONS 

USED FOR FINISHING PASSES.
NOTE :AREA CLEARANCE MUST HAVE W,A,C,ALL OTHER ARE OPTIONAL

G74 AREA CLEARANCE  CYCLE HAS THE SAME PARAMETERS ONLY THE CUTTING IS DONE TOWARD THE CENTER OF THE PART.
G 83 THREADING CYCLE

G83
En Zn Cn Dn Sn
E= IN INCH MODE : 

E= THREADS PER INCH(T.P.I.)PITCH

E=IN MM MODE: E=PITCH OF THREAD

Z = INCREMENTAL Z DISTANCE FROM START    

POINT TO FINISH POINT (LENGTH)

C= DEPTH OF FIRST CUT  

(INCHES)(EXCLUDES B)

D= TOTAL DEPTH OF THREAD (INCHES)


THIS EQUAL TO HEIGHT OF THREAD

S= # OF PASSES AT FINAL DEPTH 

(DEFAULT IS 1)

B= INCREMENTAL X STANDOFF 

DISTANCE FROM DIAMETER  INCHES

(.1 FOR OUTSIDE DIA.)

(-.1 FOR INSIDE DIA.)  

      (DEFAULT DISTANCES)


(2 MM FOR METRIC MODE)

REMEMBER THAT X IS ALWAYS GIVEN IN DIAMETERS SO LOCATION MUST BE CORRECT.
TO CALCULATE THE (D) USE THE FORMULA

 
H= .86603 X PITCH


P= ONE OVER THE NUMBER OF THREADS PER INCH  1/N

SAMPLE


1/20=.050X.86603=.043 

THIS IS THE (D) IN THE THREAD CANNED CYCLE





G77 FACING

G77 X,Z,C,A,B

X- INCREMENT DISTANCE X FROM START TO 

FINISH

Z- INCREMENT DISTANCE Z FROM START TO 

FINISH

C- MAXIMUM INCREMENT DEPTH OF CUT

A- INCREMENT TOTAL DISTANCE FROM S.P.

TO CENTER PLUS .050

B- INCREMENT DISTANCE Z FROM ZO ON PART

DEFAULT .1” OR 2. MM

